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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What are sedatives or depressant?

		  em‘H$ ¶m AdgmXH$ nXmW© ³¶m h¢?

	 (ii)	 What is social problem?

		  gm‘m{OH$ g‘ñ¶m ³¶m h¡?

	 (iii)	 Explain the meaning of drugs.

		  ‘mXH$ nXmWm] H$m AW© ~VmBE&

	 (iv)	 Explain the indirect effects of addiction.

		  ì¶gZ Ho$ AàË¶j à^md ~VmB¶o&

	 (v)	 What is unemployment?

		  ~oamoOJmar ³¶m h¡?

	 (vi)	 Explain the meaning of marriage.

		  {ddmh H$m AW© ñnîQ> H$s{O¶o&

	 (vii)	Define literate.

		  gmja H$mo n[a^m{fV H$s{O¶o&

	 (viii)	What is child marriage?

		  ~mb {ddmh ³¶m h¡?

	 (ix)	 Explain the concept of dowry.

		  XhoO H$s AdYmaUm H$m| ñnîQ> H$s{O¶o&

	 (x)	 Define social disorganization.

		  gm‘m{OH$ {dKQ>Z H$mo n[a^m{fV H$s{¶Oo&
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 What is deviant behavior? Explain.

	 {dM{bV ì¶dhma ³¶m h¡? ñnîQ> H$s{O¶o&

3)	 Discuss the causes of drug abuse.

	 ‘mXH$ Ðì¶ Ho$ Xþén¶moJ Ho$ H$maUm| H$s {ddoMZm H$s{O¶o&

4)	 Explain the elements of social structure.

	 gm‘m{OH$ g§aMZm Ho$ VËd ñnîQ> H$s{O¶o&

5)	 Discuss the types and effects of drug abuse.

	 ‘mXH$ Ðì¶ Ho$ àH$mam| Ed§ à^mdm| H$s {ddoMZm H$s{O¶o&

6)	 Describe the traditional problems.

	 naånam‘ybH$ g‘ñ¶mAm| H$m dU©Z H$s{O¶o&

7)	 Make a note on Manaklav Nasha Mukti model.

	 ‘mZH$bmd Zem ‘w{º$ ‘m°S>b na {Q>ßnUr H$s{O¶o&

8)	 Write a note on functional and dysfunctional aspects of divorce.

	 {ddmh {dÀN>oX Ho$ àH$m¶m©Ë‘H$ Ed§ AàH$m¶m©Ë‘H$ njm| na EH$ boI {b{IE&

9)	 Explain the measures of dowry eradication.

	 XhoO CÝ‘ybZ Ho$ Cnm¶m| H$s ì¶m»¶m H$s{O¶o&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Discuss the main social problems of Rajasthan.

	 amOñWmZ H$s à‘wI gm‘m{OH$ g‘ñ¶mAm| H$s {ddoMZm H$s{O¶o&

11)	 Discuss the economic evil effects of drug addiction.

	 ‘mXH$ ì¶gZ Ho$ Am{W©H$ Xþîà^mdm| H$m {ddoMZ H$s{O¶o&

12)	 Explains the views of Mahatma Gandhi on Nashamukti.

	 Zem‘w{º$ na ‘hmË‘m Jm±Yr Ho$ {dMma ~VmBE&

13)	 Explain the measures to abolish social problems.

	 gm‘m{OH$ g‘ñ¶mAm| Ho$ {ZamH$aU Ho$ Cnm¶ ~VmB¶o&


